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NI = 4.00 4. [1]
g = 95.00 u. [2]
N = 0.15 w. [3]
nsesesium) = 0.05 4. [4]
anunINinan(tnay) & 0.50 u. (5]
swayuaanmsmaﬁﬂ%mmiaﬂ
1.9ulSundsusifumasy
- USunusd = {4.00 + (0.50 x 2.00)} x 95.00 = 475.00 3.4, [6]={[11+([5]x 2.00)}x(2]
2. yesoeiu
- PBnasnumsesesi = 4.00 x 95.00 x 0.05 = 19.00 aud. [71=[1]x[2]x[4]
3. IUABUNTA
3145 SR UPBUNIAIlATINT = 4.00 X 95.00 = 380.00 ssa.  [8]=[1Ix[2]
3.2 Buaeauninnenioum
- AUNTNYBUHIABUNTA(IINUUY) = 2.00 w. [9
- AUEMVBIUHIABUNIA(AINWUY S¥8¥ CONTRACTION JOINT) = 10.00 u. [10]
.arlafSunursunInfouns = 2.00 x 10.00 = 20.00 @5y, [11]=[91x[10]
4. wdniasuRaunia
4.1 wan@SureunIn@Eaeniud 1 und)
4.1.1 nsdif 1 1Hiwdn WIRE MESH
WIRE MESH Dia. 4 mm. @ 0.10 x 0.30 m.# = 2.00 x 10.00 = 20.00 w14, [12]=[91x[10]
412 n3din 2 lHwan ansai 1
- WANMUYIN
SYHEVIAVANTILTIN @ = @Jﬂ‘\:iﬁﬁ' 1 .U [13]
ansdi 1 = gnsdifi 1 view  [141= [10/113]
ANSE 1 = gnsdfil W [151=[9]
ANTAN 1 = el W [161=(141X[15]
- manmuem
sTETwMEngNeTI @ = gnadfi 1w [17]
@ﬂssi?i 1 = gnadfi 1 vieu  [18]= (9VI17)
ansdif 1 = gnadifi 1l W [19)=(10]
ansdiil 1 = gnedii 1w [20]=[181(19]
ansdif 1 = el w [21=[16}+[20]
ansdifl 1 = g1 an. [22)
gnsdifl 1 = gadii 1 an. [231=[211x(22)
- aaynvan
LinAsilesanldindn WIRE MESH = - nn. [24]=([23]1x25)/1,000
4.3 EXPANSION JOINT
svaywad EXPANSION JOINT(R1NLUY) = 50.00 u. [25]
- $19712U EXPANSION JOINT = (95.00/50.00) - 1 = 1.00 9 [26)=({2)/[25D)-1

- AIE TN éf‘ 1989 EXPANSION JOINT = 4.00 x 1.00 =

Asannfiudl 1 UMy ¥93 EXPANSION JOINT

[27]=[1]x[26]

- AUATITRIUAIABUNIA(IINLUY) = 2.00 . [28]=[9]

- Dowel bar WENEUNAU(RINLUL) TUIN : = 19.00 uu.  [29]

- SEEEVIAEAN = 050 u.  [30]

- wswuman = 2.00/ 0.50 = 4.00 vieu [311=[27)/(30]
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- wén Dowel bar 1 viou &M
-wmANugImMan Dowel bar = 4.00 x 0.50
whethvinwdnidunay Tue 19 wu PYmem 1w win
..9¢19 Dowel bar wédnidunau wuw 19 uu. win = 2.00 x 2.23
METAL CAP = d1uuwman Dowel Bar
17 JOINT FILLTER
- AunTeTesaviBang1sUoint Sealler) muLuy
- pudnvessemisensoint Sealler) MULUY
_#ufl Joint Fillter = 2 x (0.15 - 0.025)
11 JOINT SEALLER
- USunae Joint Sealler = 2 x 0.025 x 0.025 x 1,000
mSualsiuuy
- Ysnaslsiuuu = 2x 0.15
4.4 CONTRACTION JOINT
syyz999 CONTRACTION JOINT
- g7 CONTRACTION JOINT = {(95.00 / 10.00) - 1] - 1.00
- A7188713530 CONTRACTION JOINT = 4.00 x 8.00
Aaannituil 1 uwe 999 CONTRACTION JOINT
- ANIUATUBIUHIABUNIA(AINWUL)
- Dowel bar wdnidunas(eInkuy) U
- STEEVnAman
- Mdwauwdn = 2.00 / 0.50
-wan Dowel bar 1 viou &1
- mAnsemdn Dowel bar = 4.00 x 0.50
mhethwinudndunay wwe 15 ui. Anwen 1 . win
..3¢1¢ Dowel bar wmdndunay 21w 15 uy. win = 2.00 x 1.390
ANNENY Joint Wi euneusIuRenaunIn
Ysuausunnd + 9150 wihdu Suiumvdn Dowel Bar
1 JOINT SEALLER
- ATNNTINTRNTRINEBAENUoint Sealler) MLLUY
- AMudnuDITeInEans1(oint Sealler) MINLUY
- USusy Joint Sealler =2 x 0.01 x 0.0375 x 1,000
4.2 LONGITUDINAL JOINT
ANE1ITDY LONGITUDINAL JOINT
An1nfiudl 1 una B3 LONGITUDINAL JOINT
- AMILEMIVDILNIADUNSA(IINLUU 28% CONTRACTION JOINT)
-Tie bar wéndeseu(aINLUY) WA
- STEYMAMAN(RINLUY)
- WEmuwman = 0.50 / 0.50
-WAn Tie bar 1 viou ¥1(INUUY)
- yeueTIman Tie bar = 1.00 x 0.50
wmhoihwinumandedes wun 16wy, Arwen 1w win
3¢l Tie bar wéndedey w1 16 uy. win = 0.50 x 1.580
#1 JOINT SEALLER
- AUnINBITaEang13oint Sealler) mULUU
- audnvessaviwanei(oint Sealler) AU
- U Joint Sealler = 0.5 x 0.01 x 0.0375 x 1,000
5. ulvianms
- Usueueny = (0.15+0.05) x 0.50 x 95.00 x 2.00
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(32]
[33)=[311x[32]
[34]
[35]=[33]x[34]
[361=(31]

[37]
[38]
[391=[28]x([3]-[38])

[40]
(41]

[42]
[43]={([21/142]) - 1} - [26]
[44]=[1]x[43]

[45]

[46]

147
[48]=[441/[47]
[49]
[50]=[48]x[49]
[51]
[52]=[501x[51]
[53]=[45]
[54]=[48]

=Y

N

[55]
[56]
[571=[55]x[56] x 1,000

(58]=[2]

[59]
[60]
(61]
[62]=[58)/161]
[63]

[64]=[62]x[63]
[65]

[66]=[64]x[65]

[67]
[68]

[69]=[671x[68] x 1,000

[70]=([31+[4Dx[2]x[5]x2.00




